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Problems & Solutions on SETS


n) Find AnB.
Ans =1y, 6%, 67.

©) Find B8—A j.e elements in B +4hat are not 'm A.

3 B~A =]3Y07,107,16,x3, 23, o, 1 301, 1¢,x3 { 1.
P Find [Ax8|. i€ find the Cardinality of fhe cartesian produck AXB
LAl =3
Bl = 9
[AxB | = 63,

I8/os/1g A isaser. |A| = n<oeo
P(A) = power set = § Qall subsets of AF . |Pradl = i

A={a,b1 , |Al =2
Flnd PCA), lPEh)l.

| in every set, the whole set is a Subser of iself. and the empty ser is always a Subsef
. of Qny ser.

”. | Pca) = 1iq,b%, ¢, 1al, 7 3.

. Stotements: iaf € AP(A) - T

a & P(A = F

a, & Al =5 T

11a%, 1613 cHA — T
1d,3a3F crd) =» T

b ePA) > T

P C PA) — T by default .
i¢f c Py > T

eg: A= ia 3}' r-LAL53
IPcay] = | _ HERER
P(A) 14, q’ iag, ﬂ’} 133, ?ab] 1a.3%, 3b, 3}} * femember, Order does not
: matter.

. 'S-I-q{emenﬂ Ae P > T
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